Let's Review!
#1

Greg stands 70 1w from the base of a building and measures the angle of
clievalion to the top of the huilding as being 38°, Julie is
standing 40 m from the base of the building on the other side
of the building as shown in the figure on the vight,
u Cakulate the height of the building, correct io 2 dechmal

places. ﬁ 35"
b Calculate the angle of clevation of the top of the building o g

that Julic would measure, correct to the nearest degr cc/ /
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TH73 Sulty and Tim nre both sighting the top of & building,
as shown in the figure on the right, Sally s 40 m from the
buse of the building and sights the angle of elevation to the -
top of the buikling ay 35°. Tim is 60 m from the base vfthe

bmldmg} ,
& Calculate the height of t.he buildin g,;;;;umc Lo 2 decimal
pid(«ﬂg:

b Culculute the angle ut eiemnun at Mmh Txm W zi] sight
the buikling.
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Question # 7

- During a sailing race, the boats followed a course as

shown, Find the length, x, of its third leg
(to I decimal place).
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-~ Question #8

 An observer sights the top of a building at an angle of elevation of 20°. From 4

* point 30 m closer to the building, the angle of elevation is 35° as shown in the
figure atright, Fiad +he height !

Question #9 M

—.. The distance between footbull goal posts is 7 m. If Soon Ho is 20 m from one goal pusF ind 25 m trom the

=..-uther:-

a draw a diagram showing the goal posts and Soon Ho's pusition.
b calculute the angle within which Svon Ho must kick to score a goal (Give your answer correct to the

nearest degree.) ' '7 2 - 207'4, zg 1'_, 2 ('Lo) C?,SW (oS -9~
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